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SOLUTIONS:
Problem 1:   https://nrich.maths.org/5950/solution
Problem 3:   https://nrich.maths.org/2005/solution
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What Do You Need?

Age 7 to 11 &

What do you need to find a number chosen from this hundred square?
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Four of the clues below are true but do nothing to help in finding the number.
Four of the clues are necessary for finding it.

Here are eight clues to use:

. The number is greater than 9.

. The number is not a multiple of 10.

. The number is a multiple of 7.

The number is odd.

. The number is not a multiple of 11.

The number is less than 200.

Its ones digit is larger than its tens digit.
Its tens digit is odd.
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What is the number?




image3.png
Multiply Multiples 3

Age 7 to 11 &

In the equation below each square represents a missing digit:

O0x| |0=] |0x[ |0

One possible solution is:

10x40=20x20

Can you work out some different ways to balance the equation?
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A Square of Numbers

Age 7 to 11 &

Can you put the numbers 1 to 8 into the circles so that the four calculations are
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